To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

o

OPERATOR’S MANUAL

040-00032-01



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

OPERATION
Before operating game, read this manual. Failure to properly install and operate this game could result in
malfunction or accident. Operate the game in accordance with the manual.

TRANSPORTING
The cabinet is very heavy. Because the monitor is high, the cabinet is also very top-heavy. Use appropriate care
when moving or transporting cabinet. It contains fragile glass and electronic components. Avoid rough handling.

HANDLING COMPONENTS
Many components are extremely sensitive to handling, environmental and Electrostatic Discharge (ESD) events—

especially the computer. Do not handle it roughly. Before servicing, call your distributor and inquire about the PC
warranty. Use proper ESD procedures when servicing. Protect components from harmful environmental
conditions, such as extreme temperatures, excessive moisture or other damaging effects.

DISCONNECT POWER
Always turn the power off and unplug the unit before servicing or making adjustments unless otherwise instructed.

Installing or repairing components while power is on can damage the components and void the warranty.

GROUNDING
Avoid electrical shock. Do not plug in AC power until you have inspected and properly grounded the unit. Only plug
into a grounded, three-wire outlet. Do not use a “cheater” plug or cut off the ground pin on the line cord.

ELECTRICAL SHOCKS
There is no isolation transformer in the cabinet. Disconnect AC power before servicing. However, be aware that

lethal voltages can remain in the electronic components even when AC power is disconnected. Use extreme
caution when servicing. Verify that there is a working ground connection. If the unit sustains water damage, cease
using it immediately and unplug AC power.

MONITOR
The monitor contains no user serviceable parts. Do not attempt to service the monitor.

POWER SELECTOR

Before installing game, ensure the voltage on the PC is set properly. There is a 115/230 VAC selector switch that
must be set for the correct voltage for your site. Verify the fluorescent lamp rating. The rating must match the line
voltage at the installation site.

POWER CORD
If the power cord is damaged or lost, replace it with an identical cord as supplied by the manufacturer or an
authorized service agent.

SURGE SUPRESSOR
It is recommended that you plug your game’s power cord into a surge suppressor to help protect from power

surges that may damage sensitive electronic components.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 2



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Service Manual

CONNECTORS
When servicing machine, ensure all connectors mate properly. If connectors do not slip in easily, do not force
them. Connectors are often keyed and only connect one way. Check for correct orientation.

COMPUTER

The computer contains sensitive components, including a hard drive. Do not handle it roughly. Call your distributor
before servicing its internal components. Ask about warranty information as it relates to the PC.

Do not turn the PC power switch on or off. It should remain permanently in the ON position.

Cycle AC power on or off with the cabinet power switch.

A dongle has been inserted into one of the USB ports. This is required for game play.

Do not remove the dongle except for troubleshooting purposes.

FLUORESCENT LAMP
A dropped fluorescent lamp tube may break and implode. Shattered glass from the implosion can travel long

distances and cause bodily injury. Use proper procedures when handling broken materials, as these items can
contain hazardous material such as mercury or lead.

HAZARD TO EPILEPTICS
A small portion of the population has an epileptic condition that may cause seizures. Affected persons experience

seizure while watching some television pictures or playing certain video games. People who have not had seizures
may still have an undetected epileptic condition. If anyone in your family has experienced epilepsy symptoms
(seizures or loss of awareness), consult your physical before using video games. While children play video games, a
parent should observe. Be alert to the following symptoms: dizziness, altered vision, eye or muscle twitching,
involuntary movements, loss of awareness, disorientation or convulsions. If you or your child experiences these
symptoms, discontinue use immediately and consult your physician.

MANUAL

Keep this manual available and ready for use. If the game fails to function properly, turn off the machine and
unplug the AC line cord. Contact your local distributor. Your warranty, when applicable, lasts 60 days from your
purchase date. You may not reproduce this document or any of its contents without written authorization from
Raw Thrills, Inc. .

SPECIFICATIONS

For reasons such as performance, this product’s specifications may change without notice. Federal patent,
copyright and other intellectual property laws protect the content, devices and design of the game and its
equipment.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 3



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Electrical Power

United States, International and Japan

Inrush AC Current: 7 Amps
Operating AC Current: 5 Amps
Voltage: 115 VAC

Temperature

50° F to 104° F
(10° Cto 40° C)

Humidity

Must not exceed 95% relative humidity

Dimensions

Height: 81" (2.06 meters)
Width: 39” (.99 meters)

Depth: 55” (1.39 meters)

Carton Weight

405 Ibs. (184 kg)

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 4



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Unpack Materials

Place the shipping crates on a flat, stable surface.

Cut the banding straps and remove the cardboard lids.

Lift off the large cardboard containers surrounding the front pedestal and monitor assemblies
and remove any shipping cleats.

Remove the coin door key from the coin return slot.

Open the top coin door.

Locate the keys for the back door and the cash box door.

Open the cash box door and remove the cash box.

© N v A

Check for shipping damage to the following:

e SnoCross player accessible areas such as the sled, control panel and dash.
e Marquee and monitor

e (Cabinet decals

9. Check the AC line cord for visible signs of damage.

Pay particular attention to the plug and line cord insulation.

Check Electrical Settings

Verify the voltage in the nearest AC outlet.

Verify the AC outlet ground connection is present and working.

Open the back door of the monitor assembly.

Near the AC power transformer, verify the voltage selector switch is set to correct AC voltage.
Route the line cord so that the plug is near the AC outlet.

o vk wN R

Replace the back door of the monitor assembly.

Game Power Up

Plug in line cord to AC outlet.

Turn the power switch to ON.

Check that no component is excessively hot or emitting foul odors.

If not, turn off AC power and disconnect line cord. Refer to the diagnostic section of this manual.
4. Once software loads, you will be asked to calibrate the controls.

If not, enter the service menu by pressing the TEST button located on the bracket inside the top

coin door.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 5



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Diagnostics and Adjustments

The Service Button Panel has four buttons, three of which can navigate the menu system.

But it is easiest to navigate with a Start, View & Snoball button

) )

Volume

TEST up

~~ || . —

~ (|IH N —

SERVICE Volume

DOWN
N N

e Service Panel TEST enters diagnostic system.

e Either Service Panel TEST button or
Start button selects the highlighted option.

e Service Panel VOL DOWN button or
SnoBall button moves down through menu or setting choices.

e Service Panel VOL UP button or
pressing View moves up through menu or setting choices.

e Highlight and select Exit to return to previous screen.

An on-screen message acknowledges changes or when you exit a selection without making a change.

At the bottom of each screen there is a brief description of the menu option’s function. A complete
description is available here for all menu functions.

Instructions for completing your first calibration start on the next page.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 6



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

GAME CONTROLS CALIBRATION

1. If the calibration screen is not visible, press the TEST button to enter the Diagnostic System.
2. From the Main Menu, use Volume +/- to highlight Calibration.
3. Press a Start button to enter calibration.

Calibration

- Turn Left Then Hit Test/S/Start

TWheel : Cux AT7T5
Gas: Cluawm O

Follow on-screen instructions. Re-try if calibration data is not valid.

Game will proceed to Location and Venue Name entry.

Enter information to be displayed when player scans the QR Code.

Game will enter Attract Mode. All game settings will be default values if no changes are made at
this time.

GAME CONTROLS AND INTERFACE INSPECTION

Nou s

Other Tests

See the Diagnostic Section for further information.

Enter the Switch Test menu and verify all switches function.

Enter the Screen Test menu and verify that video is acceptable.

Enter the Sound Test menu and verify the audio works and is not distorted.

Enter the Coin Meter Test menu and verify the operation of the coin meter.

Enter the Cabinet Lamps Test menu and verify that all cabinet lights work correctly.
Enter the Watchdog Test menu, which reboots the game.

No v ks wNR

Upon a successful reboot, you are ready to make adjustments to pricing, volume and other
functions found in the Adjustments, Audits and Diagnostics section.

Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 7



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Test Main Menu

Diagnostics

Game Audits

Pricing Adjustments
System Adjustments
Game Adjustments
Utilities

Calibration

Volume
Attract Volume

Exit

Menu Option Description

Verify all game functionality. Allows activation of all inputs and

Diagnostics . L
outputs, including linking and watchdog test.

Game Audits View game earnings and gameplay statistics.

Pricing Adjustments Setting for coinage unit, denomination and game pricing.

System related changes such as networking, language, attract volume,

System Adjustments
Wheel power, blower and shaker force etc.

Game Adjustments Game specific adjustments such as difficulty, bonus time, game entry.

Clear Credits, Audits and reset player/game statistics. Check system

Utilities
software errors and download data to USB external storage device.

e —
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 8



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Calibration

Calibrate controls for maximum player control and game experience.

Volume

Set volume during game only. Attract volume is adjusted
independently.

Attract Volume

Set attract/ standby mode volume only.

Main Menu

Diagnostics

Switch Test

For troubleshooting purposes, this menu gives you visual feedback of all switch functions.

Wheel /Pedals

Switch Test (Version Build Sep 13 2012:13:08:23)

Input Device

Buttons

SHOBALL

COIN 1

COIN 2

Test /Volume

SERVICE

VYersion:

Build Sep 13 2012:13:08:23
05 Ver:

Build Sep 13 2012:13:08:23
Date: Sep 13 2012
Time: 11:57:38
ID: 3

Hold ¥iew for Lights

Hold Service Ox
SnoBall To Exit

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 9




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Diagnostics

Sound Test

For troubleshooting purposes, this menu gives game sound feedback.

Menu Option Description
Change Music Change current music.
Change Effect Change sound current sound effect.

Play low and high frequency to stimulate bass or full range speaker
response.

Play 100Hz or 1kHz

Pan Center, Left,

Right Isolate sound into separate channel to verify correct speaker function.

Main Menu

Diagnostics

Wheel Test

For troubleshooting purposes, this menu allows the wheel force feedback to be activated in left and
right direction.

WAREHMING: Force Ffeedback board not Fournd

wWheel Test

m Hit Test/fStart to Begin

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 10



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Diagnostics

Monitor Test

For troubleshooting purposes, this menu allows the diagnosis of the display to detect color or linearity

issues.

Main Menu

Diagnostics

Light Test

For troubleshooting purposes, this menu allows the diagnosis of the game’s controlled lighting features.

Tyl =
Tocgoyl = HMax oguiee X
Tocgoyl = HMaxoguiee O

Tocgeyl & Biat torn=s

T oxcyoy L =
T oxcycy i =
T oxcyey il =
T cyey L =
T oxcyoy L =
T oacycy =
Tyl =
Tyl =
T oxcyoy L =

T oxcycy i =

Eixrid t

Pbipes=
P&Ope=
P& pe=
BExale
BExale
Bxale
1 atse
Txe=e=adcd
Txe=eacd
Txe=eacd

e
L= =l = =) ol
BE1yiae
Pecd
=R e EeTh
BE1yiae

o
B
L

Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 11



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Diagnostics

Coin Meter Test

For troubleshooting purposes, this menu allows the activation of coin meter. Press Start or Test to
advance coin meter.

Main Menu

Diagnostics

Watchdog Test

This menu allows the activation of the watchdog/reset system. Press Start or Test to start test. The
game’s watchdog system allows the machine to recover automatically from a crash or a failure to boot.
The watchdog system is always active.

Main Menu

Diagnostics

Link System Test

This allows the operator to view and reset the link status of two or more games connected to a single
network. Linking two or more games requires a network hub and must be purchased separately.

BRETHE | Link system is enabled.
Reliahility Test |

Show a1l Machine IDs My machine ID: 3

Restart Link System Total machines linked: 1
Address: 192.168.1.207

Reset Link System Config.

Perform "Restart Link System' if

3 this information appears stale.
Exit

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 12



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Diagnostics

Blower Test

Test the blower function at different speeds. This can also be used to determine desired blower
instensity.

Main Menu

Diagnostics

Shaker Test

Test the seat shaker function at different levels. This can also be used to determine desired shaker
intensity for maximum player experience.

Main Menu

Game Audits

General Audits 1

View general game statistics.

al huadi t=

Time Sdirmnce Boob 2:00_ 55
Time Game O 541 : 022> 50
Time Game FPlawved A22:11:-23F .53
Time Pex G ame 2:1=.718

SCames Plawved 298
Cames=s Staxted Za4a>
Camss Comntinued 270
Games Timed Ouwuat =2
Frese Game:=s 426
Pin Camses T
Limnk Game= s

Boot Up= AT A
Test Mode Entxries
Maintenandce Peboot=
Watchdog Pesets

Ho IS Board Indit
UnnFini=shed Games

@
-

TS0 Lo=t

TS0 Pecovered
Dongle Lo=st
Dongle Pecovered
Pref=s Pepaired
Pref= Damaged

Q0000 Q0Q0Q0

Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 13



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Game Audits

General Audits 2

Fiyx=t Perxrsormn Time
Dywrami o Cam THime

Total Coind»op=s
Slot O Left
Slot 1 PRight
Slot 2 DEYW

Bomnus Credits=s

Cuaarrent Credits=s
Cuaryent Coins

Main Menu

Game Audits

Courses

General 1

General 2

Courses

Course Wins COLORADO
WASHINGTON D.C.
FRANCE

CHIHA

Placings
Vehicles

Upgrades

HMusic
Stunts

Exit

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 14



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Game Audits

Courses Wins

General 1 MOSCOW

General 2 ALASKRA

Courses AHTARCTICA
Course Wins COLORADO
Placings | WASHINGTON D.C.
FRANCE

CHINA

Vehicles
Upgrades
Music
Stunts

Exit

Main Menu

Game Audits

Placing

~1

General 1 1st Place
General 2 2nd Place
Courses 3rd Place
Course Wing 4th Place
Placings 5th Place
4th Place
7th Place
: 8th Place
Music 9th Place
Stunts 10th Place

11th Place
Exit 12th Place

Vehicles
Upgrades

A kb S e ek S RO L1 0D O

~1

Average Place

Max Win Streak
Max Lose Streak
Cur Win Streak
Cur Loge Streak

]
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 15



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Game Audits

Vehicles

General 1 Snowmohilel

General 2 Snowmohile?
Courses Snowmohile3
Course Wins Snowmohiled
Placings Snowmohileh
Snowmohileb

| Vehicles

Upgrades
Music
Stunts

Exit

Main Menu

Game Audits

Upgrades

General 1 Decal
General 2 Handling
Courszes Heon
Course Wins Bodykit
Placings Engine

Vehicles

Upgrade Users
Upgrade Buy-Ins
Upgrade Credits

Upgrades

Music

Stunts
1 visit:

Exit 2 4 visits:
5 0 visits:
10 - 14 visits:
15 - 19 visits:
20 - 24 yvisits:
25 - 29 visits:
30 - 30 vigits:
40 - 49 yvisits:
50 - 69 visits:
70 - 90 vigits:
100+ visits:

(SR ]
L= TS B e ]

(=R == = = = = - - -
o O OO O O O OO

]
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 16



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Game Audits

Music

General 1 Antarctica 13:12:21.
General 2 Moscow 10:11:36.
Courses DC 17:37:24,
Course Wins Colorado 14:08:24.
Placings France 13:27:6.
China 13:47:44.
Alaska 11:47:50.

Vehicles

Upgrades
Music
Stunts

Exit

Main Menu

Game Audits

Stunts

General 1 Wheelies

General 2 Total Hitros used
Courses At least one Hitro
Course Wins

Placings Start Autopilots

Vehicles Race Autopilots

Upgrades
Music
| Stunts

Exit

]
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 17



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Pricing Adjustments

Freeplay

Money Unit

Coin Value

Coins Per Bill Pulse
Coins Per Credit
Credits To Start
Credits To Continue
Bonus Credits
Credits For Bonus
Max Credits

First Place Free Race

Multiplay Win Free Race

Settings, Defaults and Choices

Please note the following:

Adjusting the number of coins
per credit will reset the
stored number of partial
credits.

Setting Default Choices
Freeplay No Yes/No
. Card Swipes, USD, AUD, CAD, EUR,
Money Unit usD GBP,DEM,FRF,JPY,NLG, ITL,CHF,DKK, MXN,RUR, KRW,CNY
Coin Value 0.25 0.01, 0.05, 0.10, 0.25, 0.50, 1.00, 2.00, 5.00, 10.00, 20.00, 50.00,
100.00, 500.00, 1000.00, 10000.00
Coins per Bill Pulse 1 1,2,3,4,5,10, 20, 25, 50, 100
Coins Per Credit 4 1-10
Credits To Start 1 1-10
Credits To Continue 1 1-10
Bonus Credits 0 Options: 0-10
Credits For Bonus 5 1-20
Max Credits 30 10, 15, 20, 25, 30, 35, 40, 45, 50
First Place Free Race Yes Yes/No
Multiplay Win Free Race | No Yes/No

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 18



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

System Adjustments

Motion Seat EEE Change all system related

Attract Audio Ho | adjustments and settings here.
Max Name Length )

Wheel Power 100
Blower Power 100
Seat Shaker 60
Butomatic ¥Yolume Sync. Yes
Allow Auto. Calibration Yes
Allow Wheel Effects Yes
Hetwork Enabled Ho

Language English
QR Codes On
Game Vehue

Game Location

Settings, Defaults and Choices

Setting Default Choices
Motion Seat Yes Yes, No
Checkpoint Time Bonus No Yes, No
Max Name Length 7 3,4,5,6,7
Wheel Power 100 0-100
Blower Power 100 0-100
Seat Shaker 60 0-100
Automatic Volume Sync Yes Yes, No
Allow Auto Calibration Yes Yes, No
Allow Wheel Effects Yes Yes, No
Network Enabled No Yes, No
Language English English, Russian, Chinese, Japanese
QR Codes On On, Off
Game Venue None Enter Venue Name to be displayed.
Game Location None Enter Location Name to be displayed.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 19



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Game Adjustments

Start Time Bonus : Change all game related
Checkpoint Time Bonus adjustments and settings here.
Game Difficulty

Speed Measurements To set Machine ID, select
Plays For Score Reset the Hetwork Enabled option.

Autopilot Available
Girls & Crowds
Hame Entry

Settings, Defaults and Choices

Setting Default Choices
Start Time Bonus 80 30-120
Checkpoint Time Bonus 30 10-100
Game Difficulty 5 1-10
Speed Measurements MPH MPH, KPH
Plays For Score Reset 10000 1000-20000
Autopilot Available Yes Yes, No
Girls(Racer/ Crowds) Yes Yes, No
Name Entry On On, Off

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 20



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Utilities

CRC Checlk

Cleaxy Credits

Cleax Audits

Peset High Scores

Peset Plawyvexr Stats=s
Defaunlt aAadjustment=

Peset Link Swyv=tem Config.
Factoryv PRestore

Exrrors=s

HMessaoge=s

Audit=s and Log to USH
High Score=s= to USEH

Main Menu

Calibration

Calibrxation

- Turn Left Then Hit Test/Start

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 21



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Main Menu

Game Volume

Adjust game volume during play mode only. Attract volume is adjusted separately. Automatic Volume
Synch allows for all linked units to be adjusted simultaneously.

Main Menu

Attract Volume

Adjust attract or standby volume only.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 22



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

Hard Drive Recovery

Symptoms requiring hard drive recovery include

File Test reports bad or missing files.

Game fails to finish loading during startup.

After resetting the AC power, an error is reported.
You are prompted to insert a boot DVD.

Erratic Game or Attract Mode.

Garbled characters

Bad audit files

To identify corrupt files, press Test, choose System Test Menu and run the CRC Check.

The only way to repair corrupt files is to recover the hard drive, as detailed below.

COMPUTER
The computer contains sensitive components, including a hard drive. Do not handle roughly. Call your distributor

before servicing its internal components. Ask about warranty information as it relates to the PC.

Do not use the PC on/off switch. Turn AC power on or off with the cabinet power switch.

L o N o vk

11.

12.
13.
14.
15.

With game and PC on, verify that the RIO board has power. If not, see Troubleshooting.

Open the Coin door.

Open the PC DVD-ROM tray by reaching back to the PC and pressing the Open/Close button on
the drive bay.

Insert the first of two restore DVDs (labeled Disc 1) into the tray.

Close the tray by pressing the Open/Close button again.

Turn cabinet power switch to OFF. Wait 30 seconds.

Turn cabinet power switch to ON.

Recovery begins automatically when PC boots up.

If recovery does not begin, check to ensure disc is inserted correctly and is not damaged.

. Initial software loading may take several minutes. Check progress periodically.

Do not interrupt power or reset the game during recovery.

When software has been loaded, a message indicates that restore is complete. When instructed
to remove disc, open DVD-ROM drive tray and remove disc.

Turn cabinet power switch off.

After 30 seconds, turn cabinet power switch on.

Game will reboot and enter calibration mode.

Re-calibrate controls.

Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 23



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

BIOS Settings/Power Management

NOTICE
The PC ships with correct BIOS settings. Making changes to the BIOS different from the description below may
adversely affect game functions.

This BIOS setting lets the PC automatically power up. With the setting enabled, the PC reboots when it
detects AC power. This eliminates the need to manually turn the PC back on after power disruption.

Do not use the PC on/off switch. Turn AC power on or off with the cabinet power switch.

Turn cabinet power switch off.

Open rear of cabinet.

Connect a USB keyboard to the PC.

While holding the F10 key on the keyboard down, turn cabinet power switch on.

e W

When the BIOS menu screen appears, make the following adjustments.

(SETTINGS BELOW ARE SPECIFIC TO HP6005 PC. PLEASE CHECK RAWTHRILLS.COM FOR LATEST
INFORMATION ON BIOS SETTINGS AND OTHER TECHNICAL UPDATES)

STORAGE => Storage Options => SATA Emulation : "Native Mode IDE"
ADVANCED => Power On Options => After Power Loss : "On"

6. Follow instructions on screen to save and exit.
7. PC will reset and load the game.

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 24



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SNOCROSS MOTION OPERATOR’S MANUAL

MECHANICAL ILLUSTRATIONS
AND
ELECTRICAL SYSTEM DIAGRAM

-
Snocross m ©2012 Raw Thrills, Inc. All Rights Reserved. X Games: ©2012 ESPN, Inc.. All rights Reserved. X Games, the X Games logo, ESPN and
the ESPN logo are all registered trademarks for ESPN, Inc

Page 25



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

PRl AlQWassy DUl UOIOW $SOIDOUS

n.wwé ¢

3O0|g ‘MBIDS O # ‘SIOYSOM 1014 (01)
%00Ig (,GZ° | X ZE-01) SMaIDS suUIydDW poaH uolng xio] d1 (L)
PIONSD [9AIMS J8qaNny - [0-28600-009 (L)

“C>>O£m JON

O

Ao0Id .
¢ ‘M3IOS Q| # ‘JISYSOM }0O|4 (Uosl) M4| Ol
Z  |M8IDS QL # JOYSOM X007 JIIdS (U061°) MT 6

Jo0Ig ‘Ybusa, | ‘Pralyl

¢ Z€-01 Ma1ds dpD J8008 (LDD-ISJSOWIW) o

uoNg XI0|-Ul-uld 1S AO|V §61VS/096
o0 .
8 | 'meios,p/| 18USOM oI sl md)
8 |MaIDS i/ JOYSOM 4007 HIdS (wsz’ ) M1 9
oPIg "UbuST [ ‘PooIuL ]
8 | 0z-p/1 meids dog texoos | PO %m%m,mw% S
uoLing xIo]-Ul-uid 11S AO|IY
|| Alwessy 89D .27 XS | sonbiom oy ¥
AlQuuassy
L >_QE®mm< 9|IgoWMOUS ¢
3(IJOWMOUS UOIJOWOUS UOLOWOUR
| | Alqusssy esog-] axigous mmS.\H_wm__mowmm z
_ AlQuUassy 2@%%%% _
"ON

‘ALO NOILdIdDOS3d JI9WNN LaVvd Wall




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

A

SnoMotion LCD Cabinet Assembly
(BOM on next page)



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SnoMotion LCD Cabinet Assembly BOM

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 601-00590-01 SX Motion - 42" LCD Cabinet 1
2 820-00012-00 Cooling Fan(standard size): 12VDC, 3W, 80CFM 1
3 800-00001-00 120mm Wire Fan Guard 2
4 91772A206 (McMaster-Carr) 18-8 SS Pan Head Phillips Machine Screw 8-32 Thread, 2-1/4" Length 4
5 90631A009 (McMaster-Car) Inc-Pltd Grade 2 STL Nylon-Inserf Hex LHogilg(g%L;T 8-32 Thread Size, 11/32" Width, 15/64" 4
6 600-00500-01 SB2 - Inner Tunnel Support Bracket 1
7 92865A542 (McMaster-Carr) Grade 5 Zinc-Plated Steel Hex He%?lrecood%gcrew 1/4"-20 Thread, 1" Long, Fully 16
8 LW (.251n) Split Lock Washer, 1/4" Screw, Black 8
9 FW (.251in) Flat Washer, 1/4" Screw, Black 23
10 600-00963-01 Mounting Shelf - Blower Assembly 1
1 93548A544 (McMaster-Carr) Grade 2 Round Head Square Nefgnt;IA,ZETgéTofed Steel, 1/4™-20 Thread, T-1/4" 3
12 90675A029 (McMaster-Carr) Inc-Pltd St Machine Screw Nut \é\///]Tg'ol\TIBtv;/-{Oe?gﬁ‘: 1/4™-20 Thrd Sz, 7/18" Nut Width, 7
13 Blower Mounting Assembly Blower Mounting Assembly 1
14 600-00254-01 Blind Mate Bracket - Female 1
15 213974-1 Blind Mate Housing (Female): 5mm (.197") Centerline, 600 V, 14 A max. (AMP) 1
16 90316A194 (McMaster-Carr) 18-8 SS Hex Washer Head Slotted Machine Screw 8-32 Thread, 1/2" Length 2
17 90675A009 (McMaster-Carr) Inc-Pitd St Machine Screw Nut W]//Tg'o'\tlfsﬂv:/_gsigﬁtr 8-32 Thread Sz, 11/32" Nut Width, 9
18 2-1-10-00-00-000 Full Range Speaker: 5.25", 8 Ohm 2
19 90316A197 (McMaster-Carr) 18-8 SS Hex Washer Head Slotted Machine Screw 8-32 Thread, 3/4" Length 6

20 600-00961-01 Mounting Bracket - Bottom Dash 2
21 600-00957-01 Mounting Channel - Dash 1
22 96075A219 (McMaster-Carr) Alloy STL Pin-in-Torx Button Socket Cap Screw 1/4"-20 Thread, 3/4" Length 11
23 SnoMotion Dash Assembly SnoMotion Dash Assembly 1
24 SnoMotion LCD Assembly SnoMotion LCD Assembly 1
25 BB142045UHD (Stafast) Joint Connector Bolf: 1/4"-20 Thread, 1-3/4" Length, Hex Drive 4 mm, Black 4
26 800-00005-01 Mid-Width Coin Door Vault (Happ) 1
27 810-00053-01 Test Service Button Assembly 1
28 RIO Hardware Assembly RIO Hardware Assembly 1
29 90054A197 (McMaster-Carr) Inc-Pltd STL Hex Washer Head Sheet Mtl Screw Slotted, NO. 8 Size, 3/4" Length 25
30 2-1-02-00-00-021 U-San UP-52 Power Supply: 12V/9A 1
31 600-00121-01 Bracket - Power Supply Mounting 1
32 HP&005 (or approved equivalent PC) 1
33 600-00901-01 Bracket - PC Strap Mounting 2
34 601-00580-01 PC Wood Cleat 1
35 91675A333 (McMaster-Car) Hex Washer Head Screw for Sheet t/g]tgmlo Stainless Steel, NO. 8 Size, 1-1/4" 2
36 87425K76 (McMaster-Carr) PC Mounting Nylon Strip: 0.075" Thick, 1" Width, Black (56" Length) 2
37 29705786 (McMaster-Carr) - female Plastic Buckle for Webbing NO Se(\g\é%q(;g)eze—l?eleose for T"Wide Webbing 2
38 29705186 (McMaster-Carr) - male Plastic Buckle for Webbing NO Sew Squeeze-Release for 1" Wide Webbing (Male) 2
39 2-1-02-00-00-017 APS Power Supply (90-AP-188) 1
40 96075A123 (McMaster-Carr) Alloy STL Pin-in-Torx Button Socket Cap Screw 6-32 Thread, 1" Length, Black 4
41 FW (.138in) Flat Washer, #6 Screw, Black 4
42 600-00043-01 Lock Retainer 2
43 150-00001-00 Standard Door Lock 2
44 Hex Nut for Standard Lock Assembly Hex Nut for 7/8" L Standard Lock 2
45 96075A203 (McMaster-Carr) Alloy STL Pin-in-Torx Button Socket Cap Screw 10-32 Thread, 1-1/2" Length, Black 8




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

A\

PN AlduIassy BULUNOW Jomolg

e

A|QUUBSSY SIDMPIDH Oy

W
VRS,

mumVé

WBISH ¥9/S | “UPIM .28/ 11 ‘oz1S PPaIyL Z6-8
Vo InUND0T XOH HOsU-UOIAN [994S SsajuInis 8-8 1 600V1e8L6 S
14 HUNOW M08 *, /¢ dwp|D 8|gPD (LOD-ISISOWOW) 9 INT /LS, 14
ybUS1,8/¢ ‘POBIUL ZE-8 MBIOS
? | sulyoDW PaHOIS PPOH JOUSOM XSH SS 8-81 colvalets €
_ §0d Oly 10-0¥000-005| ¢
_ SISSDUD 2Dld BUUNOW - OIY 10-€1500-009] |
ALD NOILdI¥D$3d 4IINNN L3Vd "ON Wall

4 dwiojo 8soy youl ¢ 10-8£000-008 9
L Bog Jo}ji4 wpod 10-G£600-009 S
L aQgnL MO|g - XS 10-16500-€09 14
y yibua1,z/1 ‘pPraIyL ge-8 MaIOS (LUPD e

SUILDDW POHOIS POSH JOUSOM XOH SS 8-81

-IBISOWOW) 7619 1E06

Jemolg uosuyor

L0-¢2000-¥09 [4

1ox20Ig Jamolg - XS

L0-61£00-009 L

AL

NOILdIdOS3d

JFGWNN Ldvd

"ON Wall




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

AsSSY podAay uolJowWous

z yibue y/¢ ‘poaIylL ze (LU D-19}SOWOW) 9
-9 M3IOS BUIYODW sdlfiyd PoeH Und SS 8-81 LSLVZLLL6
l MO|D podAsy - XS L0-£GS00-€09 S
v yibue1 ,8/¢ ‘pPraIyL OF (LU D-I19}SOWOW) v
-y MIOS SUIYOPW sdijiyd pPoeH 1ol SS 8-81 0LVLLLL6

| (elAls suoyd Aod) podAiay 000-00-00-7 L-1-C €

| |edo] duys jooidisyioam d31 998 WOSY - XS L0-¥£000-00S z

I 1exo0Ig Bullunow podAsy L0-87600-009 L

ALO NOILdINDS3A JIAWNN L¥Vd | "ON WAL
A|QWIBssY Usog UolLoousS
L [0o8Q 8pIS [BUDd [04UOD 10-£5/00-909 zl
| 028 J8jud) |[BubDd |0JJU0D 10-9G/200-909 [l
9 3onig ‘yibus z/1 ‘Praiyl ze-9 MaIds (L0 D-I8ISOWOW) ol
doD 800§ uojing xuo]-ul-uld 11S Ao|lvV GLLVSZ096
4 diD @Il 10-0£500-009 6
14 (Hoys) diio> @31 L0-££900-009 8
z odoy ,JIOM 10819, dI1 90Y WIS - XS L0-9 1 L00-00S /
l 9|l do0DS POOH - XS L0-£1/£00-009 9
3o0ig 1
Ol [.2/1 '8ZIS 8 ON ‘POSH uoiNg ‘'SS 8-g| XIOL-Ul 761V8£956 S
-Uld DB 198US 10} MBS JuUBysIsay-ladwn]
z (2) @luD sexpeds ysoq - XS L0-Z 1 600-009 14
¢ JoD|g ‘Yibual,z/| ‘PoaIyL Ze-8 MBIDS (LUD-19}SOWOW) ¢
doD 18%20§ uoling xuo]-ul-uld 11S Aol 6€1VSL096
L Assy podAay UOIJOWOUS %qu\v_w%m\wwm z
L J1SD|d YsoQ [sund [044uoD L0-06500-€09 L
"ALO NOILdI¥DS$3A YIAWNN LY¥Vd | "ON WAL




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

Alquiassy D7 UolJowous

o | o /e 57 PSR 2601 w00l Wodeisomonll -
XOH HesU|-UOJAN 11§ Z P01 Pid-duz
L I0JJUOW QH .Z¥ 10-70000-608 14
L (pasedwa]) ssojo Aoidsia aD1.2y 10-££000-009 €
4 1 X L8/ X M/ L op|g edp] WO 14
L Assy ewold dD1.2¥ 10-££000-109 L
ALD NOILdINDS3a JIIWNN LIV "ON WALl




Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

To Purchase This Item

A|QUISSSY aspg-| 931gous

14 (Ilows) ;poeg UoKNLD 8sog-1 L0-£8/00-909 ze
6 yibusl ,z/1 ‘Pr8IYL ZE-8 MBIDS (L0 D-IeISOWOW) 1z
SUIYODW PBLIOIS POBH JBYSOM X8H SS 8-81 v61V91€06
1 IX8|d 9s0g-1 L0-02000-009 0z
z dwo1 joss [pisepad 00-$0000-0Z8 61
4 uloyD|d - 81b|d Prall LO-#8600-009 8l
9z 3onig ‘yibus g/l ‘Preiyl ze-8 MaIOdS (L0D-I18ISOWOW) /1
doD 184008 uoying xio]-ul-uld 11§ AO|Y 6€1VSL096
4 Hoys 1exon.g ebp7 asog-] - UOOW XS 10-90010-009 91
4 BuoT 1exo0ig obp3 8sog-| - UOOW XS L0-£0010-009 Gl
¥ PIDNSD JoUIOD) 9sDg-| 10-61000-€09 7l
1YBIeH INN 9 1/€ )
z “UIPIM 1NN .9 1/Z 'ZS PAUL 0Z-/ 1 JOUSOM (U3 wmm%mﬁ% el
YIOO]/M INN M8IDS SUIYDDW |IS Plld-Ouz
1YBIeH Wwiz'¢ “YipIM
4 W/ ‘YDHd W/ ‘ZS MBIDS W JSUSOM 0Z1VST8E6 zl
Y10O]/M INN X8H [881S Pld-OuUz 9 $SO|D
(dWV) ppalyl yW ‘Jojoauuo)d Jempid :
¢ | AuIgping UBIH Iy SIDMPIDH }3%00S 3 Uld ceseele) LI
(dWV) Xow v | ‘A 009 ‘sulisius) )
_ (,£61°) WWS :(e[oW) BUISNOH S4PW PuUIlg l-eZeele) Ol
L S|DW - 180DIg SJOW pullg L0-€5200-009 6
papoaiyL
4 Alind ‘BuoT, | ‘PR8IYL €1-,2/ L MIDS T1LVS9826 8
dpD pPoH X8H |981S PaID|4-2UlZ G SpPID
4 MBIDS ,Z/| "J8USDOM H007 JIIdS (05°) MT /
L Ass\ JOAId XS (ddH) 22-+992-0S 9
papoaiyl i )
Y| AInd ‘Buoty ‘pRaIyL €1-g/ L # JelersT B (adoH) 0o-evoe-6v| G
papoaiyL
zl AlIn4 “BUOT ,7/€ ‘POBIYL 0T/ | MBIDS 0vSVS9826 14
dpD pPoH X8H |991S PaID|d-2Ul7 ¢ BpDID
zl MBIDS /| “JOYSOM H007 HIdS (U1 SZ) M1 €
Buupag uip|d
¢ ‘YIPIM poal],8/1 | Jelewnid [98YM ST NIARAILAR ] TgleX z
- (001 SeUSS) JSISPD B1D|d [SAIMS SSSI{|ND
L WLIOJDId POPIOM 8S0g-1 - UOIJOW XS L0-£S L00-809 L
"ALO NOILdI¥DS$3Aa YIAWNN L¥Vd "ON W3ll




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

A

(BOM on next page)

SnoMotion Snowmobile Assembly



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SnoMotion Snowmobile Assembly BOM

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 603-00602-01 Rotomolded Snhowmobile 1
2 602-00002-00 Bike Mounting Bracket - Right 1
3 602-00001-00 Bike Mounting Bracket - Left 1
4 SAg?e'\Arr?gl?/n Puck Light SnoMotion Puck Light Assembly 2
5 600-00942-01 Front Vacform Bracket 1

Grade 5 Zinc-Plated Steel Hex Head Cap Screw 5/16"-18 Thread,
7 LW (.313in) Split Lock Washer, 5/16" Screw 18
8 FW (.313in) Flat Washer, 5/16" Screw 18
9 96-1301-00 SnoMotion Handlebar Assembly 1
10 SnoMotion Fairing Assembly SnoMotion Fairing Assembly 1
Alloy STL Pin-in-Torx Button Socket Cap Screw 1/4"-20 Thread, 1"
11 96075A223 (McMaster-Carr) Length, Black 32
12 LW (.251in) Split Lock Washer, 1/4" Screw 38
13 FW (.251in) Flat Washer, 1/4" Screw, Black 38
14 SAr;?e'\F\r?k;il?/n Track Light SnoMotion Track Light Assembly 1
Grade 5 Zinc-Plated Steel Hex Head Cap Screw 1/4"-20 Thread, 1"
15 92865A542 (McMaster-Carr) Long, Fully Threaded 6
16 i@?gﬁg@n Radiator Woofer SnoMotion Radiator Woofer Assembly 1
17 SnoMotion Tailglow Assembly SnoMotion Tailglow Assembly 1
Alloy STL Pin-in-Torx Button Socket Cap Screw 8-32 Thread, 1/2"
18 96075A139 (McMaster-Carr) Length, Black 4
19 FW (.164) Flat Washer, #8 Screw, Black 6
Tamper-Resistant Screw for Sheet Metal Pin-in-Torx, 18-8 SS, Button
20 |TP-Torx-SMS-8x.50 Head, NO.8 Size, 1/2" L, Black 6
21 608-00154-01 SnoMotion Tailpipe 2
22 Exhaust Tip Assembly Exhaust Tip Assembly 2
18-8 SS Tamper-Resist Flat Head Machine Screw Pin-in-Torx, 6-32
24 603-00587-01 SnoMotion Cover Skirt Plastic - Right 1
25 600-00941-01 Side Skirt Grille 2
26 606-00764-01 Shock Decal 2
27 606-00765-01 Right Mech Decal 1
28 606-00762-01 Right Accent Decal 1
29 606-00760-01 Right Frame Decal 1
30 603-00588-01 SnoMotion Cover Skirt Plastic - Left 1
31 606-00766-01 Left Mech Decal 1
32 606-00763-01 Left Accent Decal 1
1

33

606-00761-01

Left Frame Decal




Alquiassy di| 1Snoyxg

L IooeQ doD |I0] L0-€££00-909 S
z yibue1,8/¢ ‘PoaIYL ZE-9 MBIDS (LUPD v
SUIYODW PoLI0IS POSH JSYSOM X8H SS 8-81 -I9ISOWOW) G9 1 V9 LE06
l 1oxonIg doD 1snoyxg L0-15600-009 5
L odoy ,[IoM 10819, d31 908 WDLZ - XS LO-1 1 L00-00S z
L doD adid |IvL L0-G0000-£09 L
ALD NOILdINDS3AA JIGWNN LaVd "ON WALl

Alquusssy 1ybr ¥ond UOHOWOUS

To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

) UbioH ¥9/S 1 (10D
z "UIPIM . ZE/ L | "8ZIS pPPaIy] ZE-8 INUD0T i 4
XOH HESUI-UOJAN LS Z @PDID PHd-0Uz ISISOWOW) 600V 1£906
z yibua1,91/S ‘poaiyl 2e-8 MaI0S (LoD ¢
auIYOpW sdljiyd POSH Upd 1S Pild-oulz -I9JSOWOW) 161V2/206
@ L g40d tubijods g3 enig Z0-78000-005 14
® | 1e3on.g 1ybI 3ond 10-6£600-009 |
‘\‘ "ALO NOILdI¥DS$3Aa JIAWNN L3Vd "ON Wall
>_0_E®mm< J9JOONM 1OJDIPOY UOIJOWOUS
y yibue1,8/S ‘Pr8IYL Ze-8 MBIOS (LD ¢
SUIYOD PBLO|S POBH JSYSOM XSH SS 8-81 -I9JSOWOW) 961V 1£06
L 8U0D PIIW-AIOd ‘WYO 7 ‘I9JOOM 8 000-00-00-81-1-C 14
y JoD|g ‘Yibuel,z/| ‘PraIyL Ze-8 MBIOS (LPD ¢
doD 1832008 uoling xIo]-Ul-uld 1S AoV -ISISOWOW) 6E1VSL096
| 1920dS - |auUDd J8JOOM .8 10-¢6500-109 14
L 1oJooM ,8 - JojpIpDY 10-85600-009 L
"ALO NOILdI¥OS3a JIIWNN L¥Vd "ON W3ll




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

AlQuuassy 1yBi7 3o0i] UOILOWOUS

Uibua1,y/€ ‘Po8IUL OZ-77/ | MIDS

(U0

¢ dpD 93208 UoHNg XIO[-U-Uld 1S AO|IV OISOWOW) 61262096 Ll
L [SeEla TP ol L0-71900-909 ol
l JUSWIPIOM SWIDI4 YO0l] L0-9€£600-009 6
8 MBIDS 77/ "JeYSOM HO0T HIdS (U1 Gz) M1 8
Jop|g ‘yibusl S/ | ‘PRBIYL 0Z-/ L M8IDS . T A IO |-
? dpD }8%20§ UoKNG XIOL-Ul-Uld 11§ A0V SLIX0gse-swoldl) L
L |sund Junow 1ybr poal] - UOILOWOUS L0-$6500-109 9
zl JoD|g ‘YibusT, g/ P8Iyl Ze-8 MBIOS (LoD ¢
doD 18300§ uojing XIo]-Ul-uld 1S AoV -18SOWOW) 4£1VSL096
9 adoy JIom Joe8I9, @31 enig WOVZ - XS L0-1£000-00S 4
¢ 2lISo|d P8Il S|OH-1 LO-#¥S00-€09 €
€ 2liso|d P8Il 8|OH-G LO-€7S00-€09 4
L 810|d %O0I[ UOILOWOUS L0-££600-009 L
ALO NOILdI¥DS$3A YIAWNN L¥Vd "ON WALl




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

L IPo8Q 18A0D YOI |I0] L0-£9£00-909 6
z 3o0|g ‘yibus z/1-1 ‘PralyL ge-8 MeIOS (LoD 9
doD 800§ uojing xio]-Ul-uld 1S AoV -18ISOWOW) GG LVSZ096
4 30D|g ‘M8IOS g# ISYSOM (0|4 (791°) M4 /
z 3o0Ig ‘yibue g/ ‘Pr8IyL ZE-8 MBIOS (LoD 9
doD Jox00S§ uong xIo]-ul-uld 1S Aol -18ISOWOW) 6€1VSL096
L Jliso|d BuisnoH molB|io] L0-68500-€09 g
L 810|d SIPPIW JYBi|io] - UOHOWOUS L0-G6500-€09 4
z 8D|d woyog/do] {ybi|io] - UolloWouUS LO-76500-€09 S
L odo] duys jooidioyoom d31 993 WOSI l0-€1100-005| ¢
L 183004g JybIT [I0] - UOILOWOUS LO-€¥600-009 l

"ALD NOILdINDSAA JIGWNN L¥Vd "ON WALl




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

AlQuUUBssy BulIog UoIJOWOUS

_ |028q o7 Buuing 10-12200909] 8

I 008 1ybly Buuiod L0-2££00-909 /

| [008Q uoling Buliod 10-65/00-909 9

_ P28 opeeds Buuipy 10-85200-909| ¢
aIT A9MS - )

L | plooy,ipgous, m pay/uopng [DAQ [jous 00-6€000COZ ¥
Q31 A9IMS - -

_ P09/, MIIA. M SHUM/UOHNG [DAQ [[OWIS 00-0r000-c0Z| €

_ Q31 A9/MS PIOD/UoHNg-X oNig 00-9€00020Z] ¢

_ BuUID4 UOLOWOUS 10-50900-€09 _

‘ALD NOILdI¥D$3d 4IGWNN LIVd "ON Wall




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SX 42" Marquee Assembly

(BOM on next page)



To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

SX 42" Marquee Assembly BOM

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 601-00601-01 SX - 42" Marquee Back Board 1
2 500-00093-01 10CM White LED Strip Tape 8
3 500-00115-01 20CM White LED Weatherproof Strip Tape 5
4 500-00112-01 30CM White LED Weatherproof Strip Tape 2
5 500-00064-01 White LED PCB - Black Face 1
6 90316A829 (McMaster-Carr) 18-8 SS Hex Washer Head ?I/oz’[:rfgnl\é\%chlne Screw 10-32 Thread, 9
7 600-00950-01 SX-42 Marquee Board Bracket 1
8 96075A219 (McMaster-Car) Alloy STL Pin-in-Torx Button SocL:gﬁTg%op Screw 1/4"-20 Thread, 3/4" 12
9 LW (.251n) Split Lock Washer, 1/4" Screw 12
10 FW (.251in) Flat Washer, 1/4" Screw, Black 12
11 500-00091-01 130CM Blue LED Strip Tape 1
12 603-00581-01 SX - Marqguee Acrylic "X" 1
13 600-00997-01 0.75"SLEEVE 12
14 606-00744-01 SX - Marquee Center PETG 1

18-8 SS Button Head Socket Cap Screw 10-32 Thread, 1-3/4"
15 BH-Socket-MS-10-32x1.75 Length, Black 12
16 600-00954-01 2" SLEEVE 6
17 606-00746-01 SX - Snowmobile Left PETG 1
18 606-00747-01 SX - Snowmobile Right PETG 1
18-8 SS Button Head Socket Cap Screw 10-32 Thread, 2-1/2"
20 600-01001-01 2.50" SLEEVE 6
21 606-00745-01 SX - Marqguee Snocross PETG 1
2 BH-Socket-MS-10-32x3 18-8 SS Button Head Socket CBclugcskcrew 10-32 Thread, 3" Length, 6
23 603-00598-01 SX - Marquee Back Cover 1
Alloy STL Pin-in-Torx Button Socket Cap Screw 10-32 Thread, 1/2"
24 96075A187 (McMaster-Carr) Length, Black 7
25 96075A191 (McMaster-Carr) Alloy STL Pin-in-Torx Button Socket Cap Screw 10-32 Thread, 3/4" 5

Length, Black




<] .ORG_

BLK

CABINET COOLING FAN @2X>

N

]

3 (AR Jof A I 2 [FcA D= o o of 2o ]

GND

(==

oo

<|
Xl

12V

COIN

DOOR

-
o}

K.P. RGE

GRY BRN
GRY BI U COIN 1 o,,/g
GRY ORG COIN 2
BLU o0
VIO
ORG GRN
ORG RED
TEST
VOL+ 2;
VL= o
BRN.YE SERVICE o _—
sv T i
COTLMTR
BLU BLK COIN DOOR _|FIELD GND
BLU BRN =
BLU ORG
BLU YEL =
BLU
YEL DRG © RED LED
4Y-EL—BLK—Q— GREEN LED
YEL_GRN 0 BLUE LED
ORG YEL. +12V PWM
GRY RFD
GRY BLK
BRN RFD |
BRN BLK
LEFT
RIGHT
GRN_ORG
GRN_YEL
RED YEL -
BRN YEL CABINET WOOFER
YEL ORG - :_t
YEL BLK 1
YEL GRN =
YEL BLU
YEL VIO
YEL GRY
YEL WHT
P
PNK_BRN

3 [(NAINMY e Jod ol wf = = f o Jo]of o] fn] ]

ORG
c ] oea rT] 12V FUSED AUDIO IN
x LRG 7] 12V FUSED COIN_1
=18 T0 STEER MR IRIVE RD BLK R COIN_2
z||=a BLK 51 GND DBV
& RG [&] 12V FUSED SERVICE
Ll [RG 1 7] 12V FUSED voL +
RED 8] S5V FUSED voL -
BLK 9] GND
ol BLK [10] GND
AUDIO OUT P1
ORG [T] 12V AUDIO IN
BLK 2]
T 3] GND AUDIO
K 7| GND DIG
[5] GND DIG
BLK WHT & GND DIG
RED 71 sv In
DESKTOP Kl RO 4
P.C VIO GRN [10] sv STBY ROW 2
g 11| ROW 1
ORG WHT [12] 12v IN
BLK WHT [T4] GND DIG
BLK_WHT [T5] GND PC
BLK WHT [16] GND PC coL o
[17] coL 1
18] coL 2
VIO ORG 19| SV STBY SW
GRN [20] PC PWR ON
USB-A P2
RI/O
Alr1t
USB-A UsB-B
RED 1] SV
WHT _GRY
— % START/NOS L SPKR(+)
USB—EIA S L SPKR¢-)
K2 R SPKR(+)
LE g R SPKR(-)
- WOOFER(+)
WHT_ORG [ 8 |SNOBALL WOOFER(=)
ORG YEL
VIDED OUT USB-A ORG VEL Vv
WHT_BLK 2] GND
DVI % VIEW 1
BLOWER MOTOR POWER HE"
VID_ORG (16| STARTL LMP
(1 GND o BLK VIO BRN 17| MARQUEE “X* LED
12V o ORG BLK ViD LK 18] VIEW 1 LMP
YEL_RED [I91BLOWER MOTOR PLATE(R)
12VDC POWER SUPPLY viO YEL %% AL PLATECL
BLU ORG 22| MARGUEE "0 LED
HAPP P/Ni  80-0074-00 12v 1 P8
BETSON P/Ni UP-200PST-CE 21| wx 4 OHM/SOV RESISTOR
31| wx sv LoaD
BRAKE/K.P. RED LED
BRAKE/K.P. GRN LED
] I{“;BEIE "0V 1 |—RED WHT _ BRAKE/K.P. GRN LED
wﬁ#HERN 1] STEER TPIPE/BASE RED LED
4 BLK WHT 2] cas TPIPE/BASE BLU LED
(: TR 3 TPIPE/BASE GRN LED
v TREAD #1 LED
g RED WHT 51AD SV TREAD #2 LED
POWER SUPPLY 10 | |——ORG _WHT | BLK WHT 6 |AD GND TREAD #3 LED
——(REVHT P6
PC AC POMER
= 2(L) SIG4 GRN
= |FG
=

~ ACVN)
KLY +v3
~ ACVL

VIO ORG

PC WATCHDOG RELAY
MAGNECRAFT
PN 6210AXXSZS-DC3

TO MARQUEE AND SNOSEAT ASSEMBLY (PAGE 2/2)

~

MOTOR FUSE

ORG BLK¥ 6A SB ORG REDx*

YEL*

PCB ASSY
500-00075-00
‘_B&% [1] MOTOR GND
2L IRRE 2 | MoTOR (-
| YELX I3 MoTOR ¢+
14|
1S |
RED 3
| 7| SIGNAL 5Vv+
tVI0 BLK _I's] MOTOR SIGNAL
1 ORG-RED* 'S MOTOR V+ (FUSED)
1 10
1 11]
12

MFIT JR 39-01-2120

BLOWER  x* 18AWG

BLK GRN4

REV D

SNOMOTION MAIN REV D

SYSTEM DIAGRAM

1

As2>




To Purchase This Item, Visit BMI Gaming | www.bmigaming.com | (800) 746-2255 | +1.561.391.7200

| BLK WHT |
GRN YEL

WHTBLK

RED YEL

BRN YEL BIKE WOOFER

1
2| T-BASE CFL.
AC VOLTAGE

A B c I D I E I E G
A MR % 18
ORG YEL +12V PWM
FROM MAIN CABINET /
% BLK WHT
5{RED_WHT
7| WHT_GRN
=|_WHT
Z|WHT_BLK
; [F17|_WHT _GRY
2 5|_WHT_ORG
8 9|_VIO RED
W 050 VIO _ORG
71l V10 YEL
s 51 GRN_TRG
a L2l2-GRN YEL
Z 3I"YEL BLU
3 T RED 1] sy GRN_ORG 0 RIGHT PLATE LIGHT
YEL VIO %Z v GRN YEL O LEFT PLATE LIGHT PLATE PUCK LIGHT
YEL ORG % GND ORG YEL +12V PWM
8 YEL GRN ~ |HALL EFFECT PCB
—éﬁ'ﬁ—%’{%— **%USE AUX S5V AND GND. DON'T
_PNK BLK | CONNECT TO A/D POWER
PNK_BRN
GRNYEL(8AWG) EARTH GROUND
WHT_BLK(I8AWG ~ AC NEUTRAL
BLK WHT(18AW ~ AC VOLTAGE
ORG_YEL(18AWG RED WHT 5
RED YEL(IBAWG \];II'_‘LT T o 1
BRN_YEL(8AWG)) YEL BLU O RED LED
RED_(@X)
STEERING POT YEL VIO M GREEN LED
TRED WHT YEL Gy 3 BLUE LET TAIL PIPE(R> RGB LED
ORG YEL +12V PWM
WARNING: BLK GND
DANGEROUS HIGH VOLTAGE PRESENT WHT BLK  — |
PEDESTAL WHT GRY G— | S\'/I'IAER\"T'/NEIS :((Et \';IEE © RREEN LED
T}
INTERFACE :’/’:]T ::; o ——o— SNOBALL YEL GRY 5 BLUE LED TAIL PIPECL) RGB LED
M VIEW ORG YEL +12V PWM
L START/NOS
VIO YEL 8 SNOBALL
RED +Svdc
l ig: EEE Q RED LED
GREEN LED
YEL_GRN 5 BLUE LED BRAKE RGB LED
ORG YEL +12V PWM
;IEI\II_K WBT.L © TREAD LINE 1
o TREAD LINE 2
PINK BRN 5 TREAD LINE 3 TREAD LIGHTS
ORG_YEL +12V PWM

SNOMOTION  SEAT

SYSTEM DIAGRAM

2/2)




	13_SnoMotion Fairing Assembly_AGS-Explode_SHT13.PDF
	Sheet1
	Drawing View1


	12_SnoMotion Tailglow Assembly_AGS-Explode_SHT12.PDF
	Sheet1
	Drawing View1


	11_SnoMotion Track Light Assembly_AGS-Explode_SHT11.PDF
	Sheet1
	Drawing View1


	10_Radiator & Puck Light & Exhaust Tip Assembly_AGS-Explode_SHT10.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	9_SnoMotion Snowmobile Assembly_AGS-Explode_SHT9.PDF
	Sheet2

	8_SnoMotion Snowmobile Assembly_AGS-Explode_SHT8.PDF
	Sheet1
	Drawing View1


	7_SnoBike T-Base Assembly_AGS-Explode_SHT7.PDF
	Sheet1
	Drawing View1


	6_SnoMotion LCD Assembly_AGS-Explode_SHT6.PDF
	Sheet1
	Drawing View1


	5_SnoMotion Dash Assembly_AGS-Explode_SHT5.PDF
	Sheet1
	Drawing View1
	Drawing View2


	4_Blower & RIO Assembly_AGS-Explode_SHT4.PDF
	Sheet1
	Drawing View1
	Drawing View2


	3_SnoMotion LCD Cabinet Assembly_AGS-Explode_SHT3.PDF
	Sheet2

	2_SnoMotion LCD Cabinet Assembly_AGS-Explode_SHT2.PDF
	Sheet1
	Drawing View1


	1_SnoCross Motion Final Assembly_AGS-Explode_SHT1.PDF
	Sheet1
	Drawing View1


	SX42 Marquee Assembly_AGS-Explode_SHT15.PDF
	Sheet2

	SX42 Marquee Assembly_AGS-Explode_SHT14.PDF
	Sheet1
	Drawing View1


	2_SnoMotion LCD Cabinet Assembly_AGS-Explode_SHT2.PDF
	Sheet1
	Drawing View1


	3_SnoMotion LCD Cabinet Assembly_AGS-Explode_SHT3.PDF
	Sheet2

	4_Blower & RIO Assembly_AGS-Explode_SHT4.PDF
	Sheet1
	Drawing View1
	Drawing View2


	5_SnoMotion Dash Assembly_AGS-Explode_SHT5.PDF
	Sheet1
	Drawing View1
	Drawing View2


	6_SnoMotion LCD Assembly_AGS-Explode_SHT6.PDF
	Sheet1
	Drawing View1


	7_SnoBike T-Base Assembly_AGS-Explode_SHT7.PDF
	Sheet1
	Drawing View1


	8_SnoMotion Snowmobile Assembly_AGS-Explode_SHT8.PDF
	Sheet1
	Drawing View1


	9_SnoMotion Snowmobile Assembly_AGS-Explode_SHT9.PDF
	Sheet2

	10_Radiator & Puck Light & Exhaust Tip Assembly_AGS-Explode_SHT10.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	11_SnoMotion Track Light Assembly_AGS-Explode_SHT11.PDF
	Sheet1
	Drawing View1


	12_SnoMotion Tailglow Assembly_AGS-Explode_SHT12.PDF
	Sheet1
	Drawing View1


	13_SnoMotion Fairing Assembly_AGS-Explode_SHT13.PDF
	Sheet1
	Drawing View1


	SX42 Marquee Assembly_AGS-Explode_SHT14.PDF
	Sheet1
	Drawing View1


	SX42 Marquee Assembly_AGS-Explode_SHT15.PDF
	Sheet2

	1_SnoCross Motion Final Assembly_AGS-Explode_SHT1.PDF
	Sheet1
	Drawing View1


	2_SnoMotion LCD Cabinet Assembly_AGS-Explode_SHT2.PDF
	Sheet1
	Drawing View1


	3_SnoMotion LCD Cabinet Assembly_AGS-Explode_SHT3.PDF
	Sheet2

	4_Blower & RIO Assembly_AGS-Explode_SHT4.PDF
	Sheet1
	Drawing View1
	Drawing View2


	5_SnoMotion Dash Assembly_AGS-Explode_SHT5.PDF
	Sheet1
	Drawing View1
	Drawing View2


	6_SnoMotion LCD Assembly_AGS-Explode_SHT6.PDF
	Sheet1
	Drawing View1


	7_SnoBike T-Base Assembly_AGS-Explode_SHT7.PDF
	Sheet1
	Drawing View1


	8_SnoMotion Snowmobile Assembly_AGS-Explode_SHT8.PDF
	Sheet1
	Drawing View1


	9_SnoMotion Snowmobile Assembly_AGS-Explode_SHT9.PDF
	Sheet2

	10_Radiator & Puck Light & Exhaust Tip Assembly_AGS-Explode_SHT10.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	11_SnoMotion Track Light Assembly_AGS-Explode_SHT11.PDF
	Sheet1
	Drawing View1


	12_SnoMotion Tailglow Assembly_AGS-Explode_SHT12.PDF
	Sheet1
	Drawing View1


	13_SnoMotion Fairing Assembly_AGS-Explode_SHT13.PDF
	Sheet1
	Drawing View1


	14_SX42 Marquee Assembly_AGS-Explode_SHT14.PDF
	Sheet1
	Drawing View1


	15_SX42 Marquee Assembly_AGS-Explode_SHT15.PDF
	Sheet2

	1_SnoCross Motion Final Assembly_AGS-Explode_SHT1.PDF
	Sheet1
	Drawing View1





